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QUESTION 1

An organization requires double the processing capacity for a specific duration to handle increased workload. For the
remaining period, the organization might want to release the idle resources to save costs. The workload variations may
be

seasonal or transient.

Which cloud characteristics enables the consumer to handle such variations in workloads and IT resource
requirements?

A. Rapid elasticity

B. Resource pooling

C. Measured service

D. On-demand self-service

Correct Answer: A

QUESTION 2

What is a benefit of the active-active cluster implementation?

A. Enhances performance and availability of a service

B. Lower total cost of ownership for providing services

C. Improves security of application running on the cluster

D. Ability to run multiple services on one physical compute system

Correct Answer: A

QUESTION 3

A cloud service provider uses a resource pooling approach to improve the utilization of resources by sharing them with
multiple customers. What mechanism should the cloud provider deploy to prevent one consumer from accessing the
virtual machines of another consumer?

A. Hypervisor-based resource pooling

B. Secure multitenancy through isolation

C. Pooling of resources through multitenancy

D. Virtual machine-based resource pooling

Correct Answer: C
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QUESTION 4

What is a key benefit of using containers?

A. Eliminates any long-term commitments to a technology stack

B. Helps speed up software release cycles and improve software quality
C. Enables services to be delivered in hour or days, not weeks

D. Provides better probability without requiring code changes

Correct Answer: B

QUESTION 5

An organization wants to deploy performance sensitive applications to meet their business requirements. Which type of
storage device is suitable?

A. SATA drive

B. Solid-state drive
C. SAS drive

D. Optical disk drive

Correct Answer: B
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